THSEE

EWEHEE

IR A D EB (Bf7 5 M)
REEE m =
REREXIEL Y 2 —F% 52,234,146 [fT~F|EEH 3,548%
=R BT E 52,206,418 |BiaHED L D AED
MAEaiEE 27,728 |FIFEDL LD AED
BERSTA Y —E REE 61,173,020 [{Z~FBEEH 6,455%
- T E 59,274,637 | BiAHN 5 DALH
FpREZaEs 1,898,383 |FIFAE M © D AEH
RERESMEE 38,619,864 [{T~F|BEEH 1,974%
=R BT E 38,163,501 [BAHEKL B D AT
FpREZaEs 456,363 |FIEEH S DAEH
X EERR 9,329,065
BT E 5,592,540 |ZE~FIFHE 3054
FEER 1,736,525 [RF™M - REHRT - HER] BEEDBEER
ZER 2,000,000 [EHFHOE % Y HIE
ESEZNRE 29,000 (294
EX I E IR 639,400 [BF 2R - mF7/A-T T HLES
STIZES 1,600,000 | Lz EMfi s BT R iEEH 2]
HREBIIA 1,272,600 1%:200%/\
MEUR A 1,036,185 [FE£F 58 - 2/NE - E4 A L XESS
& B 165,933,280
X H o Ep
REEE m =
N 127,896,884 [+ &R K& 4
£  XUFAE 631,603 [KRIEASE - & 50N 8IT
= KEHEE 2,358,057 |BXAL - AKER - X
= HMmE 4,834,383 [HV ) K- Bl Y — X - BEBK - i
. B 2,698,576
e EREmE 1,986,221 (BME - ERARN - fEmt
= HRRE 2,378,000 |44
2 R 3,112,024 | EBERE - AXRE - EoRR
S BT 105,418 |F 5 A
2 ) — 2 1,371,190 |[aE —# - - Ao & —F - FOIEDY 7 L&
% R E A2 15,120,198
ME 5,028,908 [ B > &t - HPFIAE
& it 167,521,462

WA D E—3 D

=8 = A 1,588,182 (IF %k Bf FE)




